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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer any ten of the following questions :
1x10=10
Cod PR R Ie WROR ey i

(a) Mention one feature of international
trade.

e I b1 ¢y Sy 11

(b) What is international economics?
ST QYA R 2

(¢ What is meant by comparative cost
differences?

SR T i e R 3@ A e
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(2)

(d) Give one essential element of

Heckscher-Ohlin theory of international
trade.

CER-SPF TRAgE Il ©EOeR @bl
SRR S o |

(e) What is meant by Leontief paradox?
forefbes siigs wa R @

(§ How does economies of scale affect
international trade?

g{iifes ReafielR e wEEiss fws
ASRIRS I ?

(g9 Who developed the technological gap
model of international trade?

ST TR SRR Fe WD @
The IR 2

(h) Define multinational enterprise.
FZAST TR Siee ey |

() Give one argument,in favour of free
trade.

& AR w1 3

() Mention one objective of trade
restriction.

i FEET b1 Staen BeEy I
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(k) }Vhat is politica)
Intervention?

T Wy AR IRy B9

()  What is Protection tradep

IS ey 3

(M) Define flexible exchange rate

NN R 29 swewa gy

ain featy
Monetary System. e of European

Mﬁnmmﬁaﬁ@mwwl

AnSWer the f .
five) - ollowing qQuestions in brief (any

2.

TS x5=
5 o B o ey,

@ Write two

: ) subject .
lntEI‘n":ltlona] €Conomics. atters of
S o

o ‘iﬁ ﬁw o=t )
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|
(4) | (s)
(c) Distinguish be.tw.een. complete and Jq 3 Answer any four of the fo}lowmg .
incomplete specialization. | Questions -
Sx4=20
Fopf & wprepf ReRIeaR e ool Refy | mmﬁaﬁ@mmﬁmwﬁm
|1
a
(@ :’l’:iat are thc.s reasons for internatiop, al
(d} Mention two assumptions of Heckscher- f ade? Explain.
Ohlin theory of international trade. LI ey IeR PRI 2 -
’BFH W ‘ﬂﬁﬁl m T3 !
RS ™ | ®) Explain
SR BEd 301 ’ evolutio th: réasons which led to the
n o internationa] economs
a distinct by ONomics ag
() What is international product cycle ; P anch of economics,
theory? ; Ny SR T Rewe R
| FARFPH PR 20 7

R Bt B Tl 8 7
f¢) Discuss the validj

() Is there any relevance of the theory of

|

|

|
comparative cost advantage in a globally I Countries
integrated world? Give two arguments. : CageE e R’y o -
e R o o1 IR g R | IR S 09y R
T TGN AP TR 2 751 3R oy (@) Explai

XPlain - the localization theory of

intemational trade in brief.

(9 What is financial globalization?
ST M Ty
R e 0 T R wqts ey
i

(h) Mention two causes for the downfall of [ (e) DIStlng.ul'Sh between free trade ang

Bretton-Woods system. , J‘ Protection.

-5 R oreq | T® 9% o srafies

T O 149 Sy 70 | .; At w1 | TR Tere ety
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(6) (7)

|
0 EXplaln. the meaning of tariff, What are E :scuss the superiority of I-?eckscher-
the main types of tariffs? ! (c) Diﬁn theory over the Ricardian t.he.ofy
| ° tional trade. State the limita-

ROARRL AR LB TR | : i
I APTR ‘ terna . =
Rl - (t);;ns of Heckscher-Ohlin theory. :;: 10
.. : R
(6) Distinguish between taify barriers and : R sraefee T WZT IR
non-tariff barriers, SO cvel el wl
Tead A
U A o e Ao T o SREOPTR
MNLFT fefy 9| . hnological gap
te and explain the tec 10
(") In what way is the equilibrium rate of (d) Stadel of international trade.
exchange  determineq under  fixed mo e 1% e SEY
exchange rate system? e SREHOF ﬂﬁ'ﬁg | '
il
R R e (CCpRe— Ay 7 A
frfife 77 A . s in the product
Describe the maint stage 10
e) es!
4. Answer any four of the following quest; ( cycle model M F9
ons : SEOR T TPPR
TS R3] ey 10x4=40 Bt O N
TR R T w1 v i iffs in a partial
. : e the effects of tarl
(@) Explain Clearly ¢, . (f) Analyze stem. 10
com i €  Ricardian uilibrium SY
. parative costs th eq TS B gold Roma w1
mtemationa] trad e eory of W\{m AN
Reré’s et e . 10 | timum
) ly the concept of op mu.
B T I X o 3 SO () Explain %Z:;glish the relationship
« aIlf' I‘ . d
(b) “Factor Proportiong ; etween elasticity of offer curve a;’1+6=10
provide a:I'Id factor intensity optimurm i
specialization, » xplajl: for  export e ARACE R TR TR
FERIR R 1 gy e IR 3 1
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(8)

(h) Compare the effectiveness of tariff and
quota as weapons of trade restrictions. 10

e Fwa e ot ww W R
PR IRER TR wo w1

() How was equilibrium exchange rate
determined under gold standard? What

were the reasons for the collapse of the
gold standard? : 7+3=10

IS S o R T @RS
R tfiet » ¥ e orom Reenz R
e 7

() Discuss the key reasons for the
international financial crisis. What are
the effects of the international financial
crisis? 6+4=10
WREiIRE REW Sty @ FRPER S
N e R iy aeez B R 2
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